ARDA LAVABO BATARYASI - 15190101

| GR. KUMANDA KOLU
— 13190011

'“‘III\II|I\I|III|\I‘|

120

40

GR. PERLETOR
13010131

i)
¥
GR. ALT BAGLANTI
[
| 13030090 38"
|
|
1
| =
&
RE
S 16
TR
=it
IWK::::
RS q
IR 16 | 2 | Flex (42,5cm) 13080180  |M10x1-3/8"]
e 15| 1 [Somun 12010550 M8x15 | Cuzn39Pb3
Sosess 14 | 1 | Saplama 12010540 M8x60 | CuZn39Pb3
KIS 13| 1 | Tespit Plaka Contasi 12010530 M8
oo 72| 1 | Tespit Plakasi 12010520 M8 AISI—304
71| 1 | Perletor Govdesi 12010181 M24x1
70| 1 |Perletor Suzgeci 12310070
9 1 | Perletor Contasi 12010570 221x214.5x3]
8 | 1 [O-Ring 12030480 838x#2,62 | NBR
7 1 | Bice 12010091
6 | 1 | Setuskur 12010490 M5x8 AISI-304
5 1 | Kartus Rozeti 12010381 M37x1,25 | CuZn40Pb2
4 7 | Baski Somunu 12010150 M37x1,25 | CuZn40Pb2
3 1 | Kumanda Kolu 12190031 Zamak
2 1 | Ayakl Kartus 12010120 235
ADE‘ l 7 | 7 [Govde 12010011
Sira |Adet| Par¢a/Grup Adi Kod No Olgu Malzeme

Armatar | Vana




